restart

Ecuacion = y"+y'+y=0
2

Ecuacion = d—2 y(x) + a4 y(x) +y(x)=0
dx dx
EcuacionCaracteristica ' = m--2 +m+1=0
EcuacionCaracteristica := m2 +m+1=0

Raiz := solve(EcuacionCaracteristica)

S S 11
Raiz : ) + ) I\/?, ) ) I\/?

SolGrallncomoda = y(x) = Cl-eXp(Raizl-x) + Cz-exp(Raizz-x)
1 1
-5 +3 Iﬁjx

2

SolGrallncomoda .= y(x) = C, e( +C,e

SolGralComoda = y(x) = Cl-exp(Re(Raizl) -x) -cos(Im(Raizl) -x) + Cz-exp(Re(Raizl)

-x) -sin(Im(Raizl) -x) cevalf (%, 4)
y(x) =C, e cos(0.8660 x) +C,e
plot(subs(C1 =1, C, =1, rhs(SolGralComoda) ), x=0 ..10)

~0:5000x i (0.8660 x)

14

0.8

0.6

0.4

0.2

]

X

SolucionGeneral = dsolve( Ecuacion) : evalf (%, 4)
y(x)=_Cle " in(0.8660 x) + €2 ¢ """ cos(0.8660 x)

evalf (SolGralComoda, 4);

-0.5000x -0.5000x
yix) = C1 €

c0s(0.8660 x) + C, e sin (0.8660 x)

restart

Ecuacion := y"+27y=0
2

Ecuacion = % y(x) +27y(x) =0

SolucionGeneral = dsolve( Ecuacion) : evalf (%, 4)

10

0y

(€))

(&)

(C))

(C))

6

@)

®

70N\



V'V

y(x)=_CIsin(5.196 x) + C2 cos(5.196 x)

restart
SolUno = y(x) =exp(m1-x); SolDos = y(x) =x-exp(m1-x)
m x
SolUno :=y(x) =e !
m x
SolDos :=y(x) =xe !
with(linalg) :
WW = wronskian ([ rhs(SolUno), rhs(SolDos) ], x)
m x m X
1 1
e xe
WW .=
mlx mlx mlx
m; e e  +xme

demostracion = simplify(det(WW) ) # 0

Zml X
demostracion = e +0

restart
Ecuacion :==y"-6-y'+9-y=0

Ecuacion = @ y(x) —6 (% y(x)) +9y(x)=0

dxz
EcuaCaract ' =m--2 —6-m+9=0
EcuaCaract = m2 —6m+9=0

Raiz = solve(EcuaCaract)
Raiz:=3,3

SolGral == y(x) =C1-exp(Raizl-x) + Cz-x-exp(Raizl-x)
SolGral :=y(x) =C, ST+ Cyx "
comprobacion = eval(subs(y(x) =rhs(SolGral), Ecuacion))
comprobacion :=0=0

SolucionGeneral = dsolve( Ecuacion)

SolucionGeneral :=y(x) = _CI e+ 2 e x

®

(10)

an

(12)

13)
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